Name ' Date

N 'Order Of Operations

Solve each of the following.

1) 5-3—4+2-3+107 2) 24+8o2%3+5 3) 18—6+4+6-2

9 30-18+6e4 5)15-(5+3)+2 6) 64:804—1+7
.7) 55¢3+(5+6) 8) 62+3.7_4+g 9) (6—4)’ +4+2e3
10) (7+8)+5+3% 3 11)?-(5+4)2+3 - 12) 47 +403+10s5
13) 80 +1605+3 | 14)24+15—_12+6 15) 6 832 + (8 ~2+3)?
lé) (45+9 o8 + 40)° 17) 18+5-4+9+3-4 18) 5+15+503
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Homework - Distributive Property Name:
Simplify each expression: ;o
" .
5(y + 8w) 0.2(x +5) X(x +y)
3(x + 1.4) 4(20 + 4) z(8+2)
5(3¢ + 6) 2(12p + 16) 3(y - 8)
)
3(3+m) 6(8m + 3) 3 (14y + 10z - 2)
3(4h - Bt + 3) B5x{x - 3) 3(2x + B)
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